ARG 2L LY ro)

S )12 H 2R B
SM g

SRR _E B — R AT 8 R 5

E 2 Bai{t
O RN,
22 200320224
KEES! 6




—  RBAL

1. BERFEERSEEHERMNBITIIRETTE
2. BETRE. =T IRERENRKRS XS

— <A IA ML

— . KBEEE

1. BITE RS

2. B (EHMATLABTFE)

— < A

= . LRIE

HRAR 8137 2 0 1 25 5 5 O )2 2 AT b
AT LR B E 5 B B R

2F; +§ml¢j —mge = mi

BTG, BERENHERGALMA M M R4, BETHAE, H&
—HRENLER G T MA T A B RS AR 4 MIRER RN ER B N

MR, AR ES . EARMEED . REH W E AN ERAL . EFFHAED.

Hpsi| BN IEER, Fpd B RS P &R TR RSB, TSRO

FHRAFEIE.
R RGWAT AT, AR TINE A B B RS R 3

2(5) 3
R{s) st-294

TRERM: AE. AEE
[ﬂ ~[04 ollo]* 3]
y=lo]l=[1 0] [E] + [0][#]

0 3

rank Qc = rank(B AB) = rank (3 0

Al A ARG REIE
det(SI — A) = s2 —29.4

)=2=n

BB -4 £ 3

(s+4)24+9=0->52+8s+25=0
K=(-294-25 0-8)=(-544 -8)

P=@ (] o)=(p 3)

K=KP'=(-18133 -2.667)



=RERB: AE. AEE. EE

P
A

0
3
1

[]

0 1 0)rw
29.4 0] [qﬂl +

0l tx

=
==

-
|
—
S,
[l
—
=
=

@
0] H + [0][¢]
X

0 3 0
rank Qc =rank(B AB A2B) = rank (3 0 88.2) =3=n
1 0 0

Al R A REE
det(SI — A) = 5% — 29.4s
WM R N-611). -4

(s+4D[(s+6)2+1]=0-5s3+165>+855+148=0
K=(-148 —-1144 -16)

—294 0 1 0 3 0

P=((B AB A’B)| 0 1o=<o 0 3

1 0 0 -294 0 1

K=KP'=(-38.133 -7.0113 5.034)
TRESRG: M. EE. AE. ARE

il o 1 0o o Jx 0
o 0o o o0 o (i
§5le 0 o 1 87| o I
gl [0 0 294 0 g 3
X
_x_1000i+o[,_]
Y=1¢171o 0 1 ofg| o
¢
0 1 0 0
rank Qc =rank(B AB A?B A®B) =rank 10 0 0 \_4-n
0 3 0 88.2
3 0 882 0

TR GRS
det(SI — A) = s* — 29.4s2

WHAEER N -4£3). -3, -2

(s+2)s+3)[(s+4)?*+9]=0->s*+13s>+71s*+ 1735 + 150 =0
K=(-150 -173 -100.4 -13)

0 —-294 0 1 —29.4 0 1 0
1 0 0 0 0 0 0 3



K =KP'=(5102 5.8844 —-35.1673 —6.2948)
SR BX
. KEHPE
1. TEARBRESTHRETE, BEGERSGNXEREM
2. BEsimulink FRSEHAEABDSEEHF T BT, 1CRHE
SH + \
T LWERST

RS
PHATRER

.
AE NE

R TEM ME((V) HE() FE(H) El ) TE(T) ME(V) HE()  FEIH) e

Q- BOP®| - A-|H-|FA- Q- |COP® - Q- H-|(FA-

s EFxiF T=10000 s EFR# T=10000

ARE ®BE
R TEM ME((V) HE() FE(H) El ) TE(T) ME(V) HE()  FEIH) e
Q- BOP®| - A-|H-|FA- Q- |COP® - Q- H-|(FA-

s EFxiF T=10000 s EFR# T=10000



KERSRBRER
RE

Offset=0 T=11.073

4@ angle =B = 4 position == =
File Tools View Simulation Help ¥ File Toals View Simulation Help Kl
@O0 =-|a-K-|Fl&- @O0 = aA-K-|Fld-

Ready Offset=0 | T=11.073

RE

Offset=0 T=11.073

4 angular vel =8 = 4 velocity == =
Fle Tocls View Simulation Help ~ File Tools View Simulation Help .
@O0 =-|a-K-|Fl&- @O0 = aA-K-|Fld-

Ready Offset=0 | T=11.073

SO#H(F) TE(T) WE(V) SE() EEEh(H)

@- 0P

Q- Fid-

it

9 10

EFxiF T=10000

) TE(T) ME(V) HE()  FEIH) ~
@-|COP@® - a-H-|Fla-

ik

EFR# T=10000



) TET WMEAV) HE() =FEH) >

@- B0 P

9 10

s EFxiF T=10000

SZHHF) TET) ME(V) HE() FEH)

[CRIE - JON =

Nl MEN% N

EFR# T=10000

9 1C

kT
KPR AR
RE B
4@ angle =B = 4 position =8 =
Fle Tocls View Simulation Help . File Tools View Simulation Help .

@O0 =-|a-K-|Fl&-

@O0 = aA-K-|Fld-

Ready Offset=0 T=8.504 Ready Offset=0 T=8.504
RAEE wE
B I &)=
4@ angular vel =B = @ velocity == =
Fle Tools View Simulation Help ~ file Tools View Simulation Help .

@O0 =-|a-K-|Fl&-

Ready Offset=0 |T=8.604

@O0 = aA-K-|Fld-

Offset=0 T=8.604




MRS
HEXKRER
B

~

E
R ITEM MENV) HE() #FEhH) ¥ SZEEF) TE(T) WME(V) HE()  #wEH) ¥
Q- SOP® - A0 FA- Q- 60OP® - Q- [ FA-

3 5 6 7 9 10
s

9 3 5 6 7 8 9 10
EFxiF T=10000 s EFR# T=10000
FARE RE
) TET WMEAV) HE() =FEH) > SZHHF) TET) ME(V) HE() FEH)
8- |S0P® -|a- I Fa-

[CRIE - JON =

S&-|Q-E- -

0 3 5 6 7 9 10
ETFFF |T=10.000 g

KERRRLER
BE

N

B
4 angle == 4 position (= E [t
Fle Tocls View Simulation Help ~ File Tocls View Simulation Help .
@O0 =-|a-K-|Fl&-

@O0 = aA-K-|Fld-

T
LT Pl

iy

Offset=0 T=13.053

-
¥



MEEMBRERTUEL, DRSRBEEF TRGNREMRY —=REHTRZALE
RIFEHIS = E BN TN



